2 TEHRE=FVUIJHEE
(% & B R )
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=2V 7RG  (RIEA ISR LW a1 RS 53 1) (AL : mg/L)

X HT 44 tEm INRTH
AR = —R 202 203

Hi1 X 44 A I ET T XM

X 5 0230 0040

HFH = 000100 002000

PR (m) 6.0 30.0

ARG AT EHF RFF

&KX Sy T Dth IXEAK

PROKAEH H R3. 8. 31 R3.12.6 R3.7.9 R3.12.16

AKIE(C) 17.8 16.5 18.3 17.0

HAUAE R (mS/m) 12.2 12.7 19.7 19.0

pH 6.0 6.0 AR A 6.9 7.0 GRSl
D4=1=y Y 8 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Du Ak R 3 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= = N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yanxziy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [<0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
KN ZaaxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhI/maFL < 0.0005 |< 0.0005 |< 0.0005 0. 0006 0. 0007 0. 0007
T X TR 4 INATH INATH

i KA ff = —R 203 203

Hit X 44 FriEHET FriEHET

X 5 0350 0350

e 001300 001400

FE PR (m) 40.0 54.0

AT RIP RIFP

FHRX Sy TERK TERK

PRKGEH R R3.7.9 R3.12.16 R3.7.9 R3.12.16

AKIE(C) 18.0 17.1 21.5 13.7

s (nS/m) 20.5 19.5 15.5 12.2

pH 6.0 6.2 AR A 5.8 6.6 AR A
JranRrgys < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== R < 0.0002 |< 0.0002 [<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 0.0011 0. 0008
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZapxFlL 0.002 0.002 0. 002 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005

— 193 —



T =2 7R Ak (ISR R R LB A IR E i 532) (BT : mg/L)
T XHTA 44 INRTH INRTH
AR = —R 203 203
Hi1 X 44 & iTHT KA ET
X 5 0490 0670
HFH = 000900 000100
PR (m) 40.0 45.0
e R B B
&KX Sy T Dth TERK
PROKAEH H R3.7.8 R3.12.16 R3.7.9 R3.12.16
AKIE(C) 18.6 14.8 20.5 16.8
HAUAE R (mS/m) 19.3 19.3 44.1 40.5
pH 5.9 6.2 AR A 1.7 7.8 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 |< 0.0002 0. 0003 0. 0004 0. 0004
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 0.008 0.011 0.010
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmaxFL < 0.0005 |< 0.0005 (< 0.0005 0.0019 0.0019 0.0019
T X HETA 4 WE™ WE™
XA A2 —R 204 204
Hi1 X 44 SA] FEHT SA] FEHT
X 5 0010 0010
= 000130 000140
FE R (m) 3.0 5.0
e R EHP EHPE
JHIEIX 5y AKX AFEAK
PRKAEH A R3.8.18 R3.12.1 R3.8.18 R3.12.1
KIE(C) 16.0 12.5 18.5 14.5
A= (nS/m) 33.2 34.1 21.0 25.0
pH 6.8 6.8 AR A 6.8 6.8 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0. 0008 0. 0006 0. 0007 0. 0039 0.0028 0.0034
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T =2V 7RG (RIEA RS LS W )1 R 5 53°3) (AL : mg/L)

X HT 44 mET PIVET
AR = —R 206 207

Hi1 X 44 IR R WIS ET

X 5 0490 0030

HFH = 000300 000500

PR (m) ~BH 10.0

ARG AT B EHF

&KX Sy — %8R T Dth

PROKAEH H R3.7.16 | R3.12.14 R3.8.12 -

AKIE(C) 21.2 16.7 17.0 -

HAUAE R (mS/m) 19.3 20.5 45.2 -

pH 5.8 5.8 AR A 6.6 — GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 - < 0.0002
VA== N < 0.0002 |< 0.0002 |< 0.0002 0.0049 - 0.0049
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 (< 0.0004 - < 0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 - < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 - < 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 (< 0.0006 - < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 - < 0.001
FhFrmaxFL 0. 0009 0. 0007 0.0008 |< 0.0005 - < 0.0005
T X TR 4 PIVET Bl

i KA ff = —R 207 210

Hi1 X 44 RAMET = K i T

X 5 0070 0030

= 000400 000400

FE R (m) 40.0 100.0

AT RIP RIFP

JHIEIX 5y T D — R ER A

PRKGEH R R3. 8. 31 — R3.7.29 R3.12.7

KIE(C) 21.8 — 18.0 11.1

A= (nS/m) 31.2 — 26.8 22.2

pH 7.8 — AR A 6.7 6.7 AR A
JranRrzy < 0.002 - < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0. 0002 — < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002
VA=1= R < 0.0002 — < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Y7aax iy < 0.0004 - < 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/uaxFL 0.002 — 0. 002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 — < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 - < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005
LL,2-NZuoxzg < 0.0006 - < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZaaxFlL < 0.001 - < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 - < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005
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=2V 7RG  (RIEA ISR (LS 1 R S 53 4) (B3 :mg/L)

T XHTA 44 B B

AR = —R 210 210

X 44 = ok T = BRET

X 5 0030 0040

HFH = 000500 000100

PR (m) 40.0 85.0

e R RFF RFF

&KX Sy — %8R — B8R

PROKAEH H R3.7.29 R3.12.7 R3.7.29 R3.12.7

AKIE(C) 17.0 14.3 15.6 14.8

HAUAE R (mS/m) 23.8 22.1 25. 4 24.7

pH 6.5 6.6 AR A 6.7 7.0 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 0.0010 (< 0.0005 0. 0008
1,1,2-’)runxiy < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmaxFL 0.0017 0.0015 0.0016 0.0005 (< 0.0005 0. 0005
T X HETA 4 B B

XA A2 —R 210 210

Hi1 X 44 #rHHT = K BT

X 5 0100 0120

= 000200 000600

FE R (m) 130.0 100.0

e R A RIFP

JHIEIX 5y TEAK ATERAK

PRKAEH A R3.8.3 R3.12.9 R3.8.3 R3.12.10

KIE(C) 20.0 11.0 20.8 14.5

A= (nS/m) 22.5 15.2 23.3 26.5

pH 6.9 7.5 AR A 6.6 6.8 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005 0.0014 0.0013 0.0014
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 |< 0.0005 |< 0.0005 0. 0009 0. 0008 0. 0009
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TEWT =27 A (i

B

(e ME AR LB )1 R 52 57'5)

(FELAZ - mg/L)

X HT 44 B B

AR = —R 210 210

X 44 = K BT = K #THT

X 5 0120 0130

HFH = 000700 000500

PR (m) 80.0 N

ARG AT ;) RFF

&KX Sy AEERAK — %X A

PROKAEH H R3.8.3 R3.12.10 R3.8.6 -

AKIE(C) 26. 4 13.3 17.0 -

HAUAE R (mS/m) 22.6 24. 6 22.2 -

pH 6.4 6.5 AR A 6.5 — GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 - < 0.0002
VA== N < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 - < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 (< 0.0004 - < 0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 - < 0.004
L,1,1-’)yuaxiy 0.0018 0. 0020 0.0019 |< 0.0005 - < 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 - < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 0. 001 - 0. 001
FhFrmaxFL 0. 0006 0. 0006 0. 0006 0. 0005 - < 0.0005
T X TR 4 Bl Bl

i KA ff = —R 210 210

Hi1 X 44 A8 )11 HrET A8 )11 HrET

X 5 0330 0330

= 000300 000400

FE R (m) 80.0 40.0

AT BH BH

FHRX Sy — R ER A — R ER A

PRKGEH R R3.8.3 R3.12.9 R3.9.17 R3.12.9

KIE(C) 15.8 15.0 15.9 16. 1

A= (nS/m) 24.1 25.8 22.9 23.4

pH 6.6 6.6 AR A 6.4 6.4 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0.0014 0.0017 0.0016 0.0011 0.0011 0.0011
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TEWT =27 A (i

B

(e ME AR LB )1 R 52 576)

(FELAZ - mg/L)

X HT 44 B B

AR = —R 210 210

Hi1 X 44 81137 BT 81137 BT

X 5 0330 0330

HFH = 000500 000600

PR (m) 110.0 40.0

ARG AT B B

&KX Sy — %8R IXEAK

PROKAEH H R3.8.6 R3.12.7 R3.9.17 R3.12.9

AKIE(C) 17.5 14.5 15.9 15.6

HAUAE R (mS/m) 22.9 20.8 25. 4 26.0

pH 6.6 6.9 AR A 6.3 6.4 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 (< 0.0006
[N/ 4=i=tet 8 % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrIrupxFlL 0.0006 [< 0.0005 0. 0006 0.0011 0.0012 0.0012
T X TR 4 Bl Bl

i KA ff = —R 210 210

X 44 T HAET T RN ET

X 5 0380 0380

= 000100 000500

FE R (m) 80.0 50.0

AT RIP ~BH

JHIEIX 5y JKIE KR AFEAK

PRKGEH R R3.9.17 — R3.7.29 R3.12.7

KIE(C) 15.9 — 20.5 14.3

A= (nS/m) 23.8 — 24.2 25.2

pH 6.5 — AR A 6.5 6.6 AR A
JranRrzy < 0.002 - < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0. 0002 — < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002
VA=1= R < 0.0002 — < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Y7aax iy < 0.0004 - < 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y/uaxFL < 0.002 — < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 — < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 - < 0.0005 |< 0.0005 0. 0008 0. 0007
LL,2-NZuoxzg < 0.0006 - < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZaaxFlL < 0.001 - < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 - < 0.0005 0.0012 0.0012 0.0012
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TEWT =27 A (i

B

(R MEA A B RSN 55 T)

(FELAZ - mg/L)

T XHTA 44 B B

AR = —R 210 210

X 44 T HAET (g N

X 5 0380 0380

HFH = 000600 000700

PR (m) 50.0 70.0

e R B B

&KX Sy T Dth AEEAK

PROKAEH H R3.8.24 R3.12.9 R3.7.29 R3.12.9

KIRCC) 16.6 11.0 22.5 11.3

HAUAE R (mS/m) 22.7 23.0 23.5 24.2

pH 6.6 6.5 AR A 6.5 6.5 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 (< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmaxFL 0. 0009 0.0010 0.0010 0.0010 0.0010 0.0010
T X HETA 4 B B

XA A2 —R 210 210

X 44 (UEZN ) (UEN:)

X 5 0380 0380

= 000800 000900

7 R (m) 49.0 BH

e R A A

JHIEIX 5y — %8R A ZDith

PRKAEH A R3.7.29 | R3.12.10 R3.8.3 R3.12.9

ZKIRCC) 23.0 14.1 18.0 14.8

A= (nS/m) 22.8 22.17 22.1 22.7

pH 6.4 6.6 AR A 6.7 6.6 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0. 0009 0. 0009 0. 0009 0. 0007 0.0008 0. 0008
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TEWT =27 A (i

(I MEA A LB )1 R 52 578)

(FELAZ - mg/L)

T XHTA 44 B B

AR = —R 210 210

X 44 T HAET T HAHT

X 5 0380 0380

HFH = 001000 001100

PR (m) 120.7 138.0

e R B B

&KX Sy — %8R — %8R

PROKAEH H R3.9.17 R3.12.7 R3.9.17 R3.12.7

AKIE(C) 17.0 13.7 16.0 13.8

HAUAE R (mS/m) 23.17 25. 1 24.3 26.0

pH 6.5 6.7 AR A 6.5 6.8 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 0. 0005 0. 0005 0. 0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmaxFL 0. 0007 0. 0009 0. 0008 0.0010 0. 0009 0.0010
T X HETA 4 B B

XA A2 —R 210 210

X 44 AT HAHT T HAHT

X 5 0380 0380

= 001200 001300

FE R (m) 80.0 80.0

e R A ~BH

JHIEIX 5y AEERAK AFERAK

PRKAEH A R3.8.3 R3.12.7 R3.8.3 R3.12.7

KIE(C) 20.5 14.6 15.9 13.9

A= (nS/m) 21.5 23.4 21.9 24.7

pH 6.6 6.8 AR A 6.7 6.7 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL 0. 0008 0. 0008 0. 0008 0. 0006 0. 0007 0. 0007
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=2V 7RG  (RIEA RIS LW )1 R S 539) (B3 :mg/L)

i X T R4 Bt Bt

X R = —R 210 210

HX 4, T HAET #8)11ET

HP = 0380 0430

H A% 001400 000300

G (m) 141.0 51.0

e R ~8A A~BA

FHIEIX 5y TERK — A
PAKFEAH R3.7.29 R3.12.7 R3.9.17 | R3.12.10

KIRCC) 16.6 14.9 17.8 17.1

HRRE S (mS/m) 24. 4 25.5 22.3 23.3

pH 6.5 6.8 AR EE 6.4 6.7 M EME
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
rapxzFL < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-rmax iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7unxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxzFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yooxi < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-FN) ooz < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
KN romxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0009 0. 0007 0. 0008 0.0028 0. 0029 0. 0029
T X HETA 4 B B

XAk = —R 210 210

X 44 18 FLET R

HUP = 0440 0480

H A% 000100 000100

FF G (m) 60.0 100.0

e R RFF RFF

FHIERIX Sy TERK TERK

BAKFA A R3.8.6 R3.12.9 R3.8.24 R3.12.7

ZKIRCC) 18.0 14.5 23.0 10.5

XU E 2 (mS/m) 23.3 20.2 25.4 24.9

pH 6.5 6.5 AR A 6.9 7.0 A A
4=1=33 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UeR e < 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
rapxzFL < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2~ 7upnx iy < 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
L1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7unxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-RN)Zaaxk < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)7aaxs < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
NZaaxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0. 001 < 0.001
FhI/auTFL 0.0006 |< 0.0005 0. 0006 0.0005 |< 0.0005 0. 0005
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=2V 7 ARG (RIEA ISR (LS W )1 R 553 10) (B3 :mg/L)

T XHTA 44 B B

AR = —R 210 210

Hi1 X 44 EE EE

X 5 0480 0480

HFH = 000600 000700

PR (m) A 70.0

e R B B

&KX Sy T Dth TERK

PROKAEH H R3.7.29 R3.12.7 R3.8.3 R3.12.10

KIRCC) 27.2 11.0 15.8 15.6

HAUAE R (mS/m) 25.9 25.8 24.6 41.4

pH 6.9 6.9 AR A 6.7 6.7 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1=8 o < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
L1-YZunxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 (< 0.0005 0. 0007 0. 0008 0. 0008
1,1,2-’)runxiy < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhZroaxFL 0. 0005 0. 0005 0. 0005 0.0010 0.0012 0.0011
T X HETA 4 B B

XA A2 —R 210 210

X 44 5 FE T 5 FE T

X 5 0540 0540

= 000300 000400

FE R (m) 50.0 60.0

e R A A

JHIEIX 5y — % Ex A IKE KR

PRKAEH A R3.8.6 R3.12.9 R3.8.3 R3.12.9

ZKIRCC) 16.0 15.0 32.4 12.0

A= (nS/m) 18.5 19.1 17.5 19.1

pH 6.5 6.5 AR A 6.7 6.7 A A
4=1=53 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |<0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= s o < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
12— unx i < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 < 0.0004
L1-YZupxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L,2-Y7upnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 [< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIroaxFL 0. 0006 0. 0005 0.0006 |< 0.0005 (< 0.0005 (< 0.0005
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EME=2) 7 AR S)  (EEREA R ZE A a5 11) (BT : mg/L)
T XHTA 44 B B
AR = —R 210 210
Hi1 X 44 J\H Fr ET 1 F #T T
X 5 0650 0660
HFH = 000100 000100
PR (m) ~BH 100.0
e R B B
&KX Sy — %8R — %8R
PROKAEH H R3.8.24 R3.12.9 R3.8.3 R3.12.9
AKIE(C) 17.6 15.8 17.2 15.6
HAUAE R (mS/m) 24. 6 23.2 22.3 24.1
pH 6.4 6.4 AR A 6.5 6.4 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA== N < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uoxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 (< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P 0. 001 < 0.001 0. 001 < 0.001 < 0.001 < 0.001
FhFrmaxFL < 0.0005 |< 0.0005 |< 0.0005 0. 0009 0. 0009 0. 0009
T X HETA 4 Famh Fammh
XA A2 —R 212 212
X 44 FHEF g
X 5 0010 0020
= 000400 000100
FE R (m) 100.0 50.0
e R RFF RFP
JHIEIX 5y — % Ex A AERAK
PRKAEH A R3.7.8 R3.12.2 R3.7.8 R3.12.2
KIE(C) 26.5 16.0 18.0 5.5
A= (nS/m) 14.6 14.2 19.7 19. 1
pH 6.1 6.3 AR A 6.3 6.5 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
VA=1= R < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaTFL < 0.0005 |< 0.0005 |< 0.0005 0. 0009 0.0011 0.0010
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EME=2U 7 IEfRR RS  GHEIEMEAE R (A A IR ER 7 12) (HEAL :me/L)
T XHTA 44 Famm R TEET
X R = —R 212 361
Hi1 X A (32 AH
HP = 0040 0010
H A% 000100 001000
G (m) 30.0 130.0
&I FHFE EHFE
&KX Sy AEERAK IXEAK
PAKFEAH R3.7.8 R3.12.2 R3.8.10 | R3.12.13
ZKIRCC) 18.0 14.6 23.0 11.8
BRI (mS/m) 17.5 15.6 41.8 40.9
pH 6.5 6.6 AR A 1.7 7.8 GRSl
A==y ¥ 0% < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002
VUGl R < 0.0002 (< 0.0002 [< 0.0002 0.0002 |< 0.0002 [< 0.0002
Il < 0.0002 (< 0.0002 (< 0.0002 0.0015 0.0018 0.0017
1,2->v/aax i < 0.0004 (< 0.0004 |< 0.0004 0.0004 |< 0.0004 [< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 0. 002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 0.033 0.048 0. 041
1,1,1-N)ruax4 < 0.0005 |< 0.0005 [< 0.0005 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)rumx4 < 0.0006 |< 0.0006 |< 0.0006 0.0006 |< 0.0006 |< 0.0006
N ZooxFL < 0.001 < 0.001 < 0.001 0.020 0.020 0.020
VAl A=1== = P 0.0008 0. 0008 0. 0008 0.0005 |< 0.0005 [< 0.0005
T X HETA 4 S HE AT = E S KET
i KA ff = —R 384 386
X 44 = K ithBEET R
HUP = 1030 0140
H A% 001000 000200
7 R (m) 13.0 BH
&I EHE B4
HEX Sy Z D — % Ex A
BAKFA A R3.9.17 R4.1.7 R3.8.3 R3.12.3
KIRCC) 17.5 12.5 16.6 15.2
BRARE R (mS/m) 44. 6 32.17 18.3 19.1
pH 6.9 7.3 AR A 6.7 6.7 A A
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UeR e < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 |< 0.0002 (< 0.0002
Tl 0.0077 0.0048 0.0063 |< 0.0002 [< 0.0002 |< 0.0002
1,2-v/max iz < 0.0004 (< 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaaxF1L 0.012 0.004 0. 008 < 0.004 < 0.004 < 0.004
1,1,1-FR)Jau=xz < 0.0005 < 0.0005 |< 0.0005 (< 0.0005 |< 0.0005 [< 0.0005
1,1,2-F)Japa=xz < 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006
N ZuaxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Tho7/un—FL < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
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TEWT =27 A (i

B

(FEFEMEA PR &R I 0 1)

(FELAZ - mg/L)

T XHTA 44 &R™ €RM

AR = —R 201 201

X 44 R AOET E )

X 5 0010 0010

HFH = 000800 000900

PR (m) 100.0 81.0

BRI RFF RFF

FHIERIX 5y TERK A ERK

PROKAEH H R3. 6. 30 R4.1.26 R4.1.26 —

KIRCC) 15.2 14.2 11.8 —

HAUAE R (mS/m) 22 24 24 —

pH 6.8 6.7 AR A 6.8 — GRSl
D4=1=y Y 8 < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
DUk R 3 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 - < 0.0002
1,2-Y 7z iy < 0.0004 |< 0.0004 [< 0.0004 [< 0.0004 - < 0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 - < 0.004
1,1,1-FN) =z < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 - < 0.0005
1,1,2-N) =z < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 - < 0.0006
N ZopxFlL < 0.001 < 0.001 < 0.001 < 0.001 - < 0.001
FhFrmazFL 0. 0045 0.0047 0. 0046 0. 0034 - 0. 0034
T X HETAT 4 &R &R

i KA ff = —R 201 201

Hi1 X 44 Fi] BA BT Fi] BA BT

X 5 0010 0010

= 001000 001100

FE R (m) 80.0 80.0

e R RFF RFF

JHIEIX 5y — %8R — % Ex

PRKAEH A R3. 6. 30 R4.1.26 R3. 6. 30 R4.1.26

KIRCC) 17.1 13.5 22.8 11.4

s (nS/m) 28 28 26 25

pH 7.0 6.9 AR A 6.9 7.0 A A
JranRrgys < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 |< 0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yaa=xs < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
1,1,2-N)yua=xs < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
N ZaaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIrmaFL 0.0024 0.0029 0. 0027 0.0028 0. 0026 0. 0027
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TEWT =27 A (i

B

(RN PR G &R T I 7 2)

(FELAZ - mg/L)

T XHTA 44 &R™ ®R™

AR = —R 201 201

Hi1 X 44 e H Fi FH T

X 5 0010 0010

HFH = 002000 003500

PR (m) 150.0 70.0

ARG AT RFF B

&KX Sy AEERAK T Dith

PROKAEH H R3. 6. 30 R4.1.26 R3.6.29 R4.1.25

AKIE(C) 15.0 11.8 25.0 12.4

HAUAE R (mS/m) 22 24 18 19

pH 7.0 7.0 AR A 1.5 7.3 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 |<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-Y 7z iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F) oz < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-N)ranxzi < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
N ZoaxFlL 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0027 0.0028 0.0028 |< 0.0005 0. 0006 0. 0006
T X HETA 4 &R &R

i KA ff = —R 201 201

Hit X 44 Yz )1 BT ZRHT

X 5 0020 0020

e 000400 001000

P TR EE (m) BH 158.0

e R BH RHFP

JHIEIX 5y AEFEAK — R ER A

PRKAEH A R3.7.1 R4.1.27 R3.7.1 R4.1.27

AKIE(C) 18.1 14.6 24.9 16.5

s (nS/m) 22 20 19 18

pH 6.7 6.8 AR A 6.7 6.7 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)yaa=xs < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
1,1,2-N)yua=xs < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
N ZoaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL 0.0076 0.0093 0. 0085 0. 0056 0. 0062 0. 0059
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EWE=2V AR (EIEEA R R S &R E i 4)3) (BT 1 mg/L)
X HT 44 &R™ ®R™
AR = —R 201 201
Hi1 X 44 &L [ ]
X 5 0020 0020
HFH = 002200 002400
PR (m) 60.0 120.0
ARG AT RHP RIFF
&KX Sy AEERAK EEAK
PROKAEH H R3.6.28 R4.1.28 R3.6.28 R4.1.28
AKIE(C) 20.3 12.5 23. 4 11.5
HAUAE R (mS/m) 22 25 17 17
pH 1.2 1.4 AR A 1.2 6.9 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N/ a=i=tet 8 % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0053 0. 0040 0. 0047 0. 0009 0. 0009 0. 0009
T X HT R4 &R &R
i KA ff = —R 201 201
Hit X 44 BRI EJIIET
X 5 0020 0020
e 003000 003200
FE R (m) 50.0 150.0
AT RIP RFP
JHIEIX 5y AEEAK AERAK
PRKGEH R R3.7.2 R4.1.24 R3.6.28 R4.1.28
AKIE(C) 18.5 16.0 14.0 11.5
s (nS/m) 16 14 24 24
pH 7.0 7.0 AR A 6.9 7.1 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNjZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL < 0.0005 |< 0.0005 |< 0.0005 0. 044 0.039 0.042
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TEWT =27 A (i

(RN PR G &R T I 50 4)

(FELAZ - mg/L)

X HT 44 &R™ ®R™

AR = —R 201 201

Hi1 X 44 &L =

X 5 0020 0020

HFH = 003700 003900

PR (m) 60.0 70.0

ARG AT RAP RFF

&KX Sy AEERAK — B8R

PROKAEH H R3.7.2 R4.1.24 R3.7.2 R4.1.24

AKIE(C) 16.0 5.0 15.5 14.6

HAUAE R (mS/m) 24 22 18 17

pH 6.8 6.8 AR A 7.0 6.9 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0040 0. 0043 0. 0042 0. 0005 0. 0006 0. 0006
T X HT R4 &R &R

i KA ff = —R 201 201

Hit X 44 Y& )| Fr ET 5T HT

X 5 0020 0020

e 004500 004600

FE R (m) 49.0 101.0

AT ~BH RFP

JHIEIX 5y AEERAK AFEAK

PRKGEH R R3.7.1 R4.1.27 R3.7.1 R4.1.27

AKIE(C) 17.4 16.0 16.0 12.2

s (nS/m) 21 19 25 25

pH 6.5 6.6 AR A 1.4 7.5 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNjZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL 0. 0086 0. 0081 0. 0084 0.0028 0.0029 0.0029
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TEWT =27 A (i

(RN PR G &R I 575)

(FELAZ - mg/L)

X HT 44 &R™ ®R™

AR = —R 201 201

Hi1 X 44 &L =T

X 5 0020 0020

HFH = 005000 005100

PR (m) 85.0 90.0

ARG AT ;) RFF

&KX Sy AEERAK EEAK

PROKAEH H R3.7.1 R4.1.27 R3.7.1 R4.1.27

AKIE(C) 21.6 8.5 17.5 9.5

HAUAE R (mS/m) 25 25 22 20

pH 6.8 6.9 AR A 1.4 7.3 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0046 0. 0044 0. 0045 0. 0025 0. 0020 0.0023
T X HT R4 &R &R

i KA ff = —R 201 201

X 44 % T AT T

X 5 0020 0020

e 006200 007200

FE R (m) BH 80.0

AT BH RFP

JHIEIX 5y — R ER A AFEAK

PRKGEH R R3.7.2 R4.1.24 R3.7.2 R4.1.24

AKIE(C) 21.0 15.6 17.5 15.5

s (nS/m) 24 23 29 26

pH 6.8 6.7 AR A 7.3 7.1 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
KNjZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL 0.0018 0.0024 0. 0021 0. 0024 0.0032 0.0028
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TEWT =27 A (i

(RN PR G IR I 57 6)

(FELAZ - mg/L)

T XHTA 44 &R™ ®R™

AR = —R 201 201

Hi1 X 44 HEF BE

X 5 0020 0020

HFH = 007500 007600

PR (m) 60.0 150.0

ARG AT RFF RIFF

&KX Sy AEERAK EEAK

PROKAEH H R3.7.3 R4.1.24 R3.6.28 R4.1.28

AKIE(C) 20.0 5.1 16.0 11.5

HAUAE R (mS/m) 36 31 20 20

pH 1.2 1.2 AR A 7.1 7.3 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 [<0.0002 |[<0.0002 [<0.0002 [<0.0002
1,2-Y 7z iy < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F) oz < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-N)ranxzi < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
N ZoaxFlL 0. 001 < 0.001 0. 001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0.0010 0. 0008 0. 0009 0. 021 0.020 0. 021
T X HETA 4 &R &R

i KA ff = —R 201 201

X 44 ER 78 A HT 78 R ETHT

X 5 0020 0030

e 007700 000100

FE R (m) 100.0 80.0

e R RHP RFHP

JHIEIX 5y AEFEAK AERAK

PRKAEH A R3.6.29 R4.1.25 R3.6.29 R4.1.25

AKIE(C) 15.5 13.3 23.2 6.6

s (nS/m) 15 14 20 20

pH 1.2 1.4 AR A 6.4 6.4 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 |<0.0002 |[< 0.0002 (< 0.0002 [<0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1, 1-N)yaa=xs < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
1,1,2-N)yua=xs < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
N ZoaxFlL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL 0.0005 [< 0.0005 0. 0005 0. 0021 0.0028 0. 0025
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TEWT =27 A (i

(RN PR &R IR T)

(FELAZ - mg/L)

T XHTA 44 &R™ ®R™

AR = —R 201 201

Hi1 X 44 &)1 %

X 5 0030 0030

HFH = 000500 000800

PR (m) 75.0 60.0

ARG AT RFF RFF

&KX Sy AEERAK — B8R

PROKAEH H R3.6.29 R4.1.25 R3.6.29 R4.1.25

AKIE(C) 22.0 11.9 17.0 15.8

HAUAE R (mS/m) 17 19 25 26

pH 6.5 6.4 AR A 6.5 6.5 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0005 0. 0008 0. 0007 0.0014 0.0015 0.0015
T X HETA 4 &R &R

i KA ff = —R 201 201

Hit X 44 #: H#THT =]

X 5 0030 0030

e 002200 002700

7 R (m) 79.0 BH

e R RIP BH

JHIEIX 5y AEERAK AFEAK

PRKAEH A R3.6. 30 R4.1.26 R3. 6. 30 R4.1.26

AKIE(C) 20.5 1.5 16.2 8.2

s (nS/m) 18 17 21 21

pH 6.4 6.4 AR A 6.5 6.5 AR A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNjZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhormaFL 0.0033 0.0032 0. 0033 0. 0045 0.0048 0.0047
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TEWT =27 A (i

B

(RN PR EY) &R I 578)

(FELAZ - mg/L)

X HT 44 &R™ ®R™

AR = —R 201 201

X 44 i) a0

X 5 0040 0040

HFH = 000600 004000

PR (m) 50.0 100.0

ARG AT ;) RIFF

&KX Sy — %8R EEAK

PROKAEH H R3.6.29 R4.1.25 R3.7.1 R4.1.27

AKIE(C) 16.2 13.8 18.0 11.6

HAUAE R (mS/m) 13 15 23 17

pH 6.8 6.8 AR A 7.0 1.7 GRSl
DA=1=y Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Pu Ak R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y/uuxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)yuaxiy < 0.0005 |< 0.0005 [<0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiy < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
[N =i=8 2 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0007 0. 0008 0.0008 |< 0.0005 (< 0.0005 [< 0.0005
T X HT R4 &R &R

i KA ff = —R 201 201

X 44 TR [RHET b sl

X 5 0050 0050

e 000100 001000

FE R (m) 70.0 100.0

AT RIP RFP

FHRX Sy TERK TERK

PRKGEH R R3.6.28 R4.1.28 R3.6.28 R4.1.28

AKIE(C) 16.2 14.5 15. 1 13.0

s (nS/m) 23 24 25 25

pH 6.8 6.9 AR A 6.7 6.8 A A
JranRrzy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DUk R 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
1,1-Y/uaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 (< 0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNjZooxFL 0. 001 0. 001 0. 001 0. 001 0. 001 0. 001
FhormaFL < 0.0005 |< 0.0005 [< 0.0005 |[< 0.0005 [< 0.0005 [< 0.0005
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TEWT =27 A (i

B

(RN PR B &R I 57 9)

(FELAZ - mg/L)

T XHTA 44 €RM €RM

X ff = —R 201 201

X 44 T RIRHET = HNET

X 5 0050 0070

H A% 001400 001900

G (m) 80.0 <ER

e RIF T RFF A~BA

FI&X Sy ZDith ATERK

PAKFEA H R3. 6. 28 R4.1.28 R3.7.2 R4.1.24

KIRCC) 16.7 12.0 20.5 7.3

RRE S (mS/m) 24 23 47 23

pH 6.5 6.6 AR A 7.0 6.7 GRSl
D g=i=38 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUG bR R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 (< 0.0002
1,2->7upnx iy < 0.0004 [< 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
1,1-YZ7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-MN)ranxzs < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)ranxzi < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
N/aaxFL 0. 001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhIr/auTFL < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 0.0008 0. 0007
T X HETA 44 €iR™T

XAk =—R 201

HX 44 2 BT

X 5 0070

H A% 002300

FF G (m) 65.0

e R RFF

JHIEIX 5y — %8R

PRKAEH A R3.6.29 R4.1.25

ZKIRCC) 15.8 14.0

XU (mS/m) 24 23

pH 7.0 7.0 B

4=1=33 04 < 0.002 < 0.002 < 0.002

UGk 3R < 0.0002 |< 0.0002 |< 0.0002

1,2->7upnx iy < 0.0004 [< 0.0004 (< 0.0004

1,1-Y/uaxFL < 0.002 < 0.002 < 0.002

1,2-Y/uuxFL < 0.004 < 0.004 < 0.004

LL1-N)Zuaxz < 0.0005 |< 0.0005 (< 0.0005

L,1,2-N) 7z < 0.0006 |< 0.0006 (< 0.0006

NZaaxFL < 0.001 < 0.001 < 0.001

FhI/auTFL 0.0014 0.0014 0.0014
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E =20 7 A Gk B )

(B3 a1 R 57 1)

(BEAT :mg/L)

7 X HTAL 4, INTH INTH

XA A= —R 203 203

X A, ELi) A BT

X T 0050 0410

& 000100 000100

FE 1R (m) 70.0 40.0

& R il RAF

HRIX 5y TERAK Z Db

PKEH H R3.7.8 R3.12.16 R3.7.9 R3.12.16

ZKIE(C) 19.8 18.5 19.0 17.2

BB E =R (mS/m) 52.4 52.0 186 260

pH 1.2 7.3 | FRHFAE 6.8 1.1 | EREE
=3 0.038 0.034 0. 036 0.018 0.014 0.016
i X ATAL 4, INRTH INRTH

XAy =—R 203 203

XA, S ILHET £ /NERET

X 7 0490 0600

& 001300 000100

FEF TR (m) i 8

&I B B

RSy Z Dtk T D

FKEH H R3.7.8 R3.12.16 R3.7.8 R3.12.16

KR (C) 19.4 15.6 20.5 18.1

FEXURE =R (mS/m) 25.7 36.0 49.0 63.3

pH 6.4 6.8 A fE 1.2 1.4 AT fiE
=3 0.015 0.011 0.013 0. 026 0. 029 0.028
T PXHTA 4 o S5 o S5 T

XAy = —R 204 204

HX A, 7% X HT FIRITHET & & 15

X 5 0230 1190

& 000100 000100

JEF R (m) 30.0 1.0

I B EHP

FHIEIX Sy —h&EX A —h&EX A

PAKFEH H R3.8.25 | R3.12.7 R3.8.25 | R3.12.7

KR (C) 18.0 12.5 17.0 11.5

AR E =R (mS/m) 23. 1 22. 1 17.0 14.7

pH 8.1 8.2 | 6.6 6.5 | AEMIFAE
=3 0.009 0.010 0.010 0.007 0. 007 0.007
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EME=2) 7 AR (63 a1 RS 552) (BZ :mg/L)
7 X HTAS 4 mEM Ve
i XHET R = —R 206 207
X 44 th SHT EEHT
X 5 0620 0050
HEE 000100 000600
FE 1R (m) 22.0 P ;]
& RI A AHF AHF
HIEX 5y ASERK Z Dt
BRKEH A R3.7.15 | R3.12.14 R3.8.12 R3.12.9
ZKIECC) 20.5 18.6 16.5 14.5
XU EZ (mS/m) 36.9 37.1 26.7 27.2
pH 7.3 7.3 A ERE 8.2 8.2 FEREE
== 0.010 0.012 0.011 0.013 0.013 0.013
7 X HTAS 4 FIVETH FIMET
i XET 2 —R 207 207
HuX 4 EEAT A THT
X5 0050 0130
HEE 000700 000100
R (m) 30.0 60.0
&R B FHPE
REX Sy TERAK TERAK
BOKHEH H R3.8.12 | R3.12.17 R3.8.12 | R3.12.17
KIRCEC) 16.9 15.2 16.0 15.8
BRI E R (mS/m) 28.2 47.4 25.5 30.4
pH 7.5 7.5 | EREEE 6.8 6.9 | ERHVEE
== 0.014 0.014 0.014 0.030 0.029 0.030
7 X HTA 4 FIVETH FIMET
X HE = —R 207 207
HuIX 4, KJIET KJIET
X 0250 0250
HEE 000400 000700
FEF R (m) 10.0 PN
e RIHF EHF N
FHIRX Sy ASERK ASERK
PRKEH H R3. 8. 26 R3.12.9 R3.8.12 R3.12.9
KIRCC) 17.5 15.5 24.8 8.5
BRI (nS/m) 48.7 47.2 29.9 31.3
pH 9.0 9.0 |4ERHTE 8.3 8.4 |FMIFHHE
== 0.41 0.46 0.44 0.027 0.025 0.026
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TE =2V 7 A (kA (B35 a1 FEHE 533) (FAAZ :mg/L)
7 XA 4 T TIWETH
T XETAf = —R 207 207
X A, KIJIET KIJIET
1 X 5 0250 0250
P 000800 000900
FE 1R (m) 28.0 P ;]
&R B i
&K 5y — % ER A ATERK
PKAEH R R3.8.12 R3.12.9 R3.8.12 R3.12.9
KIRCC) 17.2 16.0 16.0 15.6
AR (mS/m) 30. 4 30.5 31.8 32.6
pH 8.2 8.2 | AEMVHME 8.2 8.2 |fEMITHME
[==3 0.011 0.012 0.012 0.012 0.013 0.013
17 PCHTAS 4 T VT
HIXEff 2 —R 207 207
XA, KIIET JFIWEHT
X 0250 0270
A% 001200 000100
P R (m) FER 50.0
& E B3 TR
FHE X5y AERK ATERK
BKAEH B R3.8.12 R3.12.9 R3.8.12 R3.12.9
KR (C) 16. 2 15.0 18.2 13.8
B AURE R (mS/m) 29.1 30.7 45.6 45.2
pH 8.2 8.1 |[FHFHH 8.4 8.3 |FHFHME
== 0.014 0.014 0.014 0.011 0.011 0.011
7 PCHTAS 44 G g
HIXETff 21— 211 211
Hi X A4 (L CTET KR IFHT
X 0080 0260
HEES 000200 000200
FEF R (m) 70.0 30.0
e RIF A B3 EHP
XSy ATERK ATERK
K H R3.7.13 | R3.12.13 R3.7.13 | R3.12.13
KR (C) 18.3 16. 4 18.3 15.0
B AURE R (mS/m) 75.0 74.0 24.5 29.6
pH 8.4 8.6 |FMHFHMH 6.5 6.9 | AEFFME
== 0.027 0.026 0.027 0.029 0.028 0.029
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EWIT =2V 7 ARG ) (638 )1 RS H554) (BAZ :mg/1)

i X 44 CEE T EES

X E A2 —R 211 211

X 4 KR EFHT INREFHT

M XA 0260 0460

HAES 000400 000100

FFRE (m) 70.0 80.0

e RIFEF ~H H

& X5y ATERAK ATERAK

BAKFEA H R3.7.13 R3.12.13 R3.7.13 R3.12.13

7KIE(C) 24.2 16.6 20.2 15.7

ERARE R (mS/m) 24.7 33.7 31.1 35.7

pH 6.5 6.9 | ERHEEE 6.6 6.9 |ERHTEHE
=== 0.031 0.009 0.020 0.015 0.013 0.014
AT 44 ERET PR BT

M XE A2 —R 361 365

X 44 i b i}

X2+ 0190 0070

HAES 000100 000100

H R EE (m) 180.0 4.0

&I E EHFE EHF

R 5y ATERAK AFERAK

BOKFA H R3.8.10 | R3.12.13 R3.7.12 R3.12.1

ZKIRCC) 21.5 19.6 19.5 15.5

BEXUAE 2 (mS/m) 35.3 37.3 27. 1 39.8

pH 7.2 1.4 | FREEE 7.0 6.7 |FRIEEIE
== 0.072 0.072 0.072 0.019 0.024 0.022
T KT 44 PR BT PR BT

M XE A2 —R 365 365

Hi X 4, T By E

X5 0070 0090

HPAES 000200 000100

R (m) 200.0 71~8

e RHF N EHF

H&EX Sy TEAK ATERK

PKAEH B R3.7.12 R3.12.1 R3.7.12 R3.12.1

ZKIRCC) 22.8 19.5 24.5 13.4

XU E = (mS/m) 29.6 26.7 19.1 16.3

pH 7.1 7.1 TR E 7.0 7.1 FEREE
=== 0.018 0.016 0.017 0.037 0.025 0. 031
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TEWIE =5V 7 J A (ko B B0

(B3 )1 R 575)

(BEAT :mg/L)

1 XHT AT 4 SHEET 737K ET

X E A2 —R 384 461

H X 4 BRI ]

M XA 1040 0040

HAES 000200 000100

FH R EE (m) 4.0 30.0

&R F TEA RHF

R&X 5y Z D ATERAK

BAKFEA H R3. 8. 26 R3.12.9 R3.8.25 R3.12.7

7KIE(C) 20.4 14.8 16.0 13.5

XU EZ (mS/m) 44.3 37.2 23.8 23.7

pH 1.7 7.9 A ERE 7.1 7.1 I
=== 0.017 0.014 0.016 0.013 0.014 0.014
T X ET R4 7K HET 737K ET

M XE A2 —R 461 461

HiX 4 &y B &y E

X5 0140 0140

HAES 000100 000400

R (m) 65.0 60.0

HeRHA RFF EHPE

H&X 5y ATERAK ATERAK

BOKFA H R3.8.25 R3.12.7 R3.8.25 R3.12.7

ZKIRCC) 15.2 14.5 15.7 14.0

BEXUAE 2 (mS/m) 14. 4 14. 4 15.4 16. 2

pH 6.9 6.9 |FHFHE 6.8 1.0 | FREE
== 0.022 0.022 0.022 0.016 0.018 0.017
T XHT AT 4 7 IKHET AEZSHT

X HE = —R 461 463

H1 X A4 tiE FHELS

X5 0150 0010

HPAES 000100 000600

FHF R (m) 5.0 P N: )

BRI EHF N

H&EX Sy ATERK ATERK

PKAEH B R3.8.25 R3.12.7 R3.8.19 R3.12.7

ZKIRCC) 15.0 14.0 16.5 16.0

XU E = (mS/m) 14. 4 14.5 26.4 25.8

pH 6.8 7.1 FEREE 9.2 9.4 | FRHEEE
=== 0.019 0.012 0.016 0.013 0.014 0.014
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EME=2V 7 RAERGEARD (3 a)IIRFEHR6) (FAL:mg/L)
1 XHT AT 4 REZHT
i XHET R = —R 463
H[X 4 VN
X5 0240
HEE 000200
FH PR EE (m) 10.0
R EHF
M&X 5y ATERAK
BRKEH A R3.8.19 R3.12.7
KIRCC) 18.5 16.5
BRI E R (nS/m) 29.8 25.6
pH 1.2 1.3 R[5 fE
=& 0.007 0.008 0.008
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=2 7 HAEG D)  (ElE 258 K O RS ERYE %38 - a1 R 32 47) (B3 :mg/L)

7P 4, INRTH INRTH
i XHET R = —R 203 203

Hi1 X A4 Y& F BT ) A4 T
X5 0160 0510
P 000500 000100
FF R (m) R 4.0
&R R EHF
MK Sy Z D1t TERAK
BRKEH A R3.7.8 — R3.7.8 R3.12.16
ZKIECC) 16.0 — 17.3 17.8
BRI (nS/m) 17.1 — 22.2 217.17
pH 4.7 — A 6.3 6.5 |
I R L OISR 10 — 10 4.1 7.8 6.0
T XHT AT 4 INATR

i XE = —R 203

X A, ) A4 T

X 0510

HEE 000300

FHF R (m) T~BH

& RIEE B

&KXy ASERK

BKAFEH B R3.7.8 | R3.12.16

KR (C) 17.3 17.7

USSR (mS/m) 16.5 14.2

pH 6.2 6.6 B S E

TP I 28 3R e OV i ek 28 3R 2.4 3.6 3.0
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=2 7 ARG Ty a0 IIREk 1) (BEAZ :mg/L)
7 XA 4 mEM mEM

T XETAf = —R 206 206

Hu XA, AnjseET {F RHT

X 5 0370 0500

P 000200 000200

FE 1R (m) 5.0 P ;]

- RIET EHP FER

&K 5y Z Dt ATERK

PKAEH R R3.7.15 | R3.12.14 R3.7.15 | R3.12.14

KIRCC) 19.2 16.0 17.5 14.8

AR (mS/m) 63. 1 48.9 29.6 29.1

pH 7.5 1.5 | AERFRME 7.5 7.6 R
TR 1.1 0.90 1.0 1.1 1.1 1.1

17 CHTAS 44 mEM mEM

HIXETff 2 —R 206 206

Hi X A4 1 RLHT {E BT

X 0500 0500

A% 000300 000400

H PR (m) 10.0 EN::

- E i FER

FHEIX 5y ATERK ATERK

BKAEH B R3.10.1 | R3.12.14 R3.7.15 | R3.12.14

KR (C) 19.4 13.3 19.3 16.5

USSR (mS/m) 28.8 29.4 33.5 33.8

pH 7.6 7.6 | FEEEE 7.6 1.7 | AEREAE
T 1.1 1.0 1.1 1.3 1.1 1.2
7 PCHTAS 44 mEM mEM

HIXETff 21— 206 206

Hi X 4, {E BT E BT

X 0500 0500

HEES 000700 000800

PR (m) 10.0 50.0

BRI i TBA

XSy ATERK ATERK

SRR H R3.7.15 | R3.12.14 R3.7.15 | R3.12.14

K (C) 26.0 12.8 22.5 16.8

RS R (mS/m) 21.0 19.3 26.0 25.4

pH 8.3 8.3 |FMHFHH 7.8 1.9 | AEREEEE
T 0.39 0.24 0.32 0.89 0.83 0.86

— 221 —



=2 7 IRAEM ) (73R A IIRE7)2) (FAZ : mg/L)
[HESIENES FIVE T X

i KHT A= — 207 211

HUX 44 AT 1]y

HUX 5 0250 0080

HEES 000400 000200

P TR (m) 10.0 70.0

&R EHF i

FHIBX Sy HTERIK HTERK

BOKEA R R3.8.26 | R3.12.9 R3.7.13 | R3.12.13

ZKIR(C) 17.5 15.5 18.3 16.4

FERUS R (S /m) 48.7 47.2 75.0 74.0

pH 9.0 9.0 |EMTHE| 8.4 8.6 | ‘MK
7k 1.2 1.5 1.4 0.76 0.78 0.77
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EWE=2U 7GR A (R 3 ) RS 57) (BAZ : mg/L)

7 X HTAL 4, INTH INTH
XAy = —R 203 203
X A, A BT R ET
X T 0410 0700
& 000100 000400
FE TR (m) 40.0 80.0
& R il RHAF
R IX 5y Z D Z Db
PKEH H R3.7.9 | R3.12.16 R3.7.9 | R3.12.16
ZKIE(C) 19.0 17.2 19.4 17.6
BB E =R (mS/m) 186 260 55.0 99.6
pH 6.8 7.1 A 6.5 6.7 - E
RNVES 1.5 2.1 1.8 0.2 0.6 0.4
T PXRTAS 4 Ae S AT

XAy = —R 463

X A, A

X 7 0240

& 000700

FEF TR (m) 8

&I EHF

FIEIX Sy ATERK

FKEH H R3.8.19 | R3.12.7

KR (C) 17.1 15.5

FEXURE R (mS/m) 141 128

pH 8.9 9.1 | FHMH

ANYE S 1.1 1.1 1.1
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